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Question 1
Question Type: MultipleChoice

How are workloads protected in Prisma Cloud Enterprise and Prisma Cloud Compute''

Options: 
A- Prisma Cloud enterprise and Prisma Cloud Computes provides identical workload capabilities.

B- Prisma Cloud Enterprise provides workload protection through integration with the NGFW.

C- Prisma Cloud Compute offers agentless protection for all workload types.

D- Prisma Cloud Enterprise does not offer workload protection because it is a SaaS based product and agentless

Answer: 
A

Question 2
Question Type: MultipleChoice



What are the differences between Prisma Cloud Enterprise and Prisma Cloud Compute

Options: 
A- The only difference is in the architecture - where the Console is hosted

B- Prisma Cloud Compute offers lowered runtime defensive capabilities because there is no PANW cloud hosted component.

C- Prisma Cloud Enterprise does not offer workload protection.

D- Only Prisma Cloud Compute offers API based cloud protection.

Answer: 
C

Question 3
Question Type: MultipleChoice

Is vulnerability analysis against images in the registry sufficient for security?



Options: 
A- Yes, containers do not have unique vulnerabilities.

B- No, you should do vulnerability analysis only against the running containers, which are vulnerable.

C- Yes, you are ensuring that the images the containers are based on are secure.

D- No, you need to do analysis in the CI system, in the registry, and against instantiated containers

Answer: 
C

Question 4
Question Type: MultipleChoice

In the following scenario, Route-based firewall redundancy is deployed in a Data Center, which statement is true?



Options: 
A- IP addresses of Firewall interfaces will move between devices when a firewall fails

B- The 2 firewalls are in Active-Standby HA status

C- Firewalls use dynamic routing protocols to determine the best path



D- Floating IP addresses are necessary for HA configuration

Answer: 
C

Question 5
Question Type: MultipleChoice

When deploying VM series on Openstack platform, which statement is correct?

Options: 
A- Allow configuration of at least one interface

B- OpenStack compute node could be installed on a hypervisor platform

C- Accept the VM-Series OVA image

D- Set Instance type OS::Nova Server

Answer: 



B

Question 6
Question Type: MultipleChoice

Which interface mode does an administrator use to generate the statdump file that can be converted into an SLR? Assume that the

administrator wants to make the evaluation as unintrusive as possible

Options: 
A- Virtual Wire

B- TAP

C- Layer 2

D- Layer 3

Answer: 
B



Question 7
Question Type: MultipleChoice

Which three components are relevant for installing a VM-Series firewall in an OpenStack environment? (Choose three )

Options: 
A- bootstrap files including init-cfg.txt. bootstrap.xml, and VM-Series auth codes

B- a valid VM-Series gcow2 image

C- Hypervisor: ESX

D- a valid OpenStack heat template in json format

E- a valid vmseries vhd image

F- a valid OpenStack heat template in yaml format

Answer: 
A, B, D

Question 8



Question Type: MultipleChoice

A customer wants to completely segment their internal networks They have Cisco switches and extensively use 10Gbps interfaces. They

are running VMware ESXi and are considering implementing NSX. Which three Palo Alto Networks firewall models will support this

deployment? (Choose three.)

Options: 
A- PA-3050

B- VM-100

C- VM-300

D- PA-3250

E- PA-7050

Answer: 
A, D, E

Question 9
Question Type: MultipleChoice



Which type of cloud service can be protected by an inline firewall controlled by the organization rather than by the cloud provider?

Options: 
A- SaaS

B- laaS

C- PaaS

D- FaaS

Answer: 
B

Question 10
Question Type: MultipleChoice

When would a PA-7000 Series NPC GQXM Card be preferable to a PA-7000 Series NPC GQ Card?



Options: 
A- When the organization requires a greater number of sessions

B- When the environment has a need for more SFP+ interfaces

C- When the organization requires gear with a smaller slot size.

D- When the environment has a need for more policy rules.

Answer: 
A

Question 11
Question Type: MultipleChoice

Which protocol is used by VMware to encapsulate packets in NSX?

Options: 
A- VRLAN



B- VXLAN

C- GRE

D- VMLAN

Answer: 
B
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